

Umar Shauweel Makun
18/Enr08/024
Biomedical Eng

$a = \frac{dy}{dx} = 2 \sinh x \cdot \cosh x$
 $p = \tanh x$

$Q = 2 \sinh x$
 $\int p dx = \int \tanh x = \int \frac{\sinh x}{\cosh x} dx$
 $\cosh x = u$
 $\int \frac{\sinh x}{\cosh x} dx$

Use $\cosh x$
 $\frac{du}{dx} = \sinh x$
 $\int \frac{\sinh x}{\cosh x} \cdot \frac{du}{\sinh x}$

$\int \frac{1}{u} du = \ln u = \ln \cosh x$
 $(f = e^{\int p dx} = e^{\ln \cosh x}$
 $(F = \cosh x$

then $g(f) = \int Q \cdot (f) dx$

$\int \cosh x = \int 2 \sinh x \cdot \cosh x dx$
 $2 \sinh x \cosh x = \sinh 2x$
 $\therefore 2 \sinh x \cosh x = \sinh 2x$

$\int \cosh x = \int \sinh 2x dx$
 $\int \cosh x = \frac{1}{2} \cdot 2 \cosh 2x + C$
 $\cosh x = \cosh 2x + C$

$\int = \frac{\cosh 2x + C}{2}$
 $\cosh 2x$

$\int = \cosh 2x + C$
 $\cosh x$

like $2C = A$
 $\int = \cosh 2x + A$
 $\cosh x$

b) $\frac{dy}{dx} + 2y = e^{3x}$
 $p = 2$
 $Q = e^{3x}$

$(f = e^{\int p dx} = e^{2x}$
 $\therefore \int \cdot (f) = \int Q \cdot (f) dx$

$\int e^{2x} = \int e^{2x} \cdot e^{2x} dx$
 $\int e^{2x} = \int e^{4x} dx$
 $\int e^{2x} = \frac{1}{4} e^{4x} + C$

$\int = \frac{1}{4} e^{4x} + C$

c) $\frac{dy}{dx} = x^2 + 2x + 3$
 $\frac{dy}{dx} = x^2 + 2x + 3$
 $\int \frac{dy}{dx} = \int x^2 + 2x + 3 dx$

$\int = \frac{x^3}{3} + 2x^2 + 3x + C$
 $\frac{dy}{dx} = x^2 + 2x + 3$
 $\int \frac{dy}{dx} = \frac{y^2}{2} + 2x + 3x + C$

$\frac{dy}{dx} = x^2 + 2x + 3$
 $\int \frac{dy}{dx} = \frac{y^2}{2} + 2x + 3x + C$

$\frac{dy}{dx} = x^2 + 2x + 3$
 $\int \frac{dy}{dx} = \frac{y^2}{2} + 2x + 3x + C$

Then multiply by $(1-y)$
 $2y^3 \frac{dy}{dx} = -2y^3 \frac{dy}{dx} - 2$
 $\text{and } \frac{dy}{dx} = -\frac{2y^3}{dy}$

Sub eqn 2 & 3 into 1
 $\frac{dy}{dx} = \frac{2y^3}{dx} = -2$
 $\therefore p = -2/x$
 $\int p dx = -2 \ln x$
 $(f = e^{-2 \ln x} = x^{-2}$

$\int = \frac{1}{x^2} + C$

(Meer 5 Namwede) Makun
 (8/ENG08/024
 Biomedica 1 Eng

$$Z \cdot 1f = \int q \cdot 1f \cdot dx$$

$$Z = x^{-2} = \int -2x^{-3} dx$$

$$= -2x^{-2} + C$$

$$Z \cdot x^{-2} = 2x^{-1} + C$$

$$Z = 2x^{-1} + C/x^{-2}$$

$$Z = 2x + Cx^2$$

$$Z = x(2 + Cx)$$

$$Z = x^{-2}$$

$$\int x^{-2} = x(2 + Cx)$$

$$y^2 = \frac{1}{x} (2x + Cx^2)$$

$$\therefore y = \sqrt{\frac{1}{x} (2x + Cx^2)}$$

$$y = \frac{1}{\sqrt{x(2+cx)}}$$

e) $x^2 \frac{dy}{dx} = x^3 \sin 3x + 4$

$$\frac{dy}{dx} = x \sin 3x + \frac{4}{x^2}$$

$$\int \frac{dy}{dx} = \int x \sin 3x + \int 4x^{-2}$$

$$= \frac{1}{3} \cos 3x + \int 3 \cos 3x + \frac{4}{x} + C$$

$$= \frac{1}{3} \cos 3x + \sin 3x - \frac{4}{x} + C$$

$$f(x^2 + x^3) \frac{dy}{dx} = 2x^3$$

$$y = vt$$

$$\frac{dy}{dx} = v + t \frac{dv}{dx}$$

$$v + t \frac{dv}{dx} = \frac{2x^3}{x^3 + v^2 x^3}$$

$$v + x \frac{dv}{dx} = \frac{2v^3}{x^2(1+v^2)}$$

$$x \frac{dv}{dx} = \frac{2v^3}{1+v^2}$$

$$= \frac{2v^3 - v(1+v^2)}{1+v^2}$$

$$x = \frac{dv}{v^2} = v^3$$

$$\frac{1+v^2}{v^3} dv = \frac{1}{x} dx$$

$$v(v-1)(v+1) = v^3 - v$$

$$\frac{1+v^2}{v^3} = \frac{A}{v} + \frac{B}{v-1} + \frac{C}{v+1}$$

$$1+v^2 = A(v-1)(v+1) + B(v)(v+1) + C(v)(v-1)$$

$$+ C(v)(v-1) \quad v=1$$

$$1+(1)^2 = B(1)(2)$$

$$Z = B(2)$$

$$\therefore B = 1$$

$$v = -1$$

$$1 + (-1)^2 = C(-1)(-1-1)$$

$$2 = 2C$$

$$\therefore C = 1$$

$$v = 0$$

$$1 + (0)^2 = A(0-1)(0+1)$$

$$1 = A(-1)(1)$$

$$C = A = -1 \quad \therefore A = -1$$

$$\int \left[\frac{-1}{v} + \frac{1}{v-1} + \frac{1}{v+1} \right] v dv = \int \frac{1+v^2}{v^3} dx$$

$$\int -\frac{1}{v} + \frac{1}{v-1} + \frac{1}{v+1} + v dv + \int \frac{1+v^2}{v^3} dx = \int \frac{1}{x} dx$$

$$-\ln v + \ln(v-1) + \ln(v+1) = \ln x + C$$

$$\ln(v-1)(v+1) - \ln v = \ln x + C$$

$$v^2 - 1 = Ax$$

$$\frac{v^2 - 1}{x} = Ax$$

$$\frac{v^2 - 1}{x} - 1 = Ax$$

$$\frac{v^2 - 1}{x} = Ax$$

$$\frac{v^2 - 1}{x} - 1 = Ax$$

$$\frac{v^2 - 1 - x}{x} = Ax$$

$$\frac{v^2 - 1 - x}{x} = Ax$$

$$\frac{v^2 - 1 - x}{x} = Ax$$